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lbw 1175 gain vs za and fit dec17—juni18

% Taskpon o

____Poll. gain(az,za) 1155.0 Mhz Sigma(y-yfit): 0.2857

f(za): 7.59614 +(-0.02947)*za +(-0.01938)*(za-14) ~ 2 +(-0.00279)(za-14) ~ 3
f(1az): -0.0572*cos(1az) + (-0.0634)*sin(1az)

f(2az): 0.0191*cos(2az) + ( 0.0233)*sin(2az)

f(3az): O. 0252*cos(3az) + (-0.0776)*sin(3az)

P

o

SigCof: za 0.2368 08&&8 0.0597 0.0175
SigCof: az 0.0905 0.0975 0.0961 0.0913 0.0918,0.0949

o))
N

0

lbw 1300 gain vs za and fit dec17—juni18

e Taostion

____Poll. gain(az,za) 1310.0 Mhz Sigma(y-yfit): 0.3977

f(za): 7.68779 +(-0.02188)*za +( 0.00011)*(za-14) ~ 2 +(-0.00616)(za-14) ~ 3
f(1az): 0.2939*cos(1az) + (-0.1183)*sin(1az)

f(2az): 0. 2094*cos(2az) + ( 0.0263)*sin(2az)

o

f(38az). 0. 1576*005(3%z) + (-0.0756)*sin(3az)
SigCof: za 0.2368 0.0228 0.0594 0.0114

SigCof: az 0.0899 0.0972 0.0960 0.0907 0.0914 0.0946
lbw 1375 gain vs za and fit dec17—juni18
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Pol I. gain(az,za) 1375.0 Mhz Sigma(y-yfit): 0.3128
f(za): 7.82400 +(-0.05210)*za +(-0.00326)*(za-14) ~ 2 +(-0.00528)(za-14) ~ 3
f(laz): O. 0020*cos(1az) + (-0.1569)*sin(1az)

o

f(2az)7 0.0297*cos(Zaz) + ( 0.0538)*sin(2az)
f(3az): 0.0277*cos(3az) + (-0.0819)*sin(3az)
SigCof: za 0.2404 0.0237 0.0644 0.0126

o))
N

0
za

SigCof: az 0.1073 0.09%1 014D 0pYen \®R0gE7 @Mpi0t decl/—juni8

o

_____Poll. gain(az,za) 1415.0 Mhz Sigma(y-yfit): 0.3482

f(za): 8.16277 +(-0.05866)*za +(-0.02493)*(za-14) ™~ 2 +(-0.00132)(za-14) ~ 3
f(1az): 0.1175*cos(1az) + (-0.2254)*sin(1az)

f(2az): -0. O114*cos(2az) ( 0.0464)*sin(2az)

o

{CEAR 007&8"005(3%@ + (-0.1088)*sin(3az) W‘O ‘ ‘ ‘ .
SigCof: za 0.1760 0.0166 0.0432 0.0084 2o
SigCof: az 0.0627 0.0707 0.0689 0.0642 0.0666 0.0668

N
o
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lbw 1550 gain vs za and fit dec17—juni18
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____Poll. gain(az,za) 1550.0 Mhz Sigma(y-yfit): 0.9295
f(za): 8.61787 +(-0.02735)*za +(-0.14512)*(za-14) ~ 2 +( 0.01826)(za-14) ~ 3
f(1az): 0.5118*cos(1az) + (-0.0283)*sin(1az)
f(2az): 0.0901*cos(2az) + ( 0.1367)*sin(2az)
f(3az): 0.2312*cos(3az) + (-0.1523)*sin(3az)

o

SigCot: za 0.3028 0.92&3 0.0876 0.0172
SigCof: az 0.1078 0.1155 0.1134 0.1078 0.1133,0.1109

o))
N

0

lbw 1610 gain vs za and fit dec17—juni18

____Poll. gain(az,za) 1610.0 Mhz Sigma(y-yfit): 0.4181

f(za): 7.84377 +(-0.05035)*za +(-0.04343)*(za-14) ~2 +(0.00149)(za-14) ~ 3
f(1az): 0.2684*cos(1az) + (-0.3199)*sin(1az)

f(2az): -0.0758*cos(2az) + ( 0.0592)*sin(2az)

o

f(3az)" 0.1658*605(3%z) + (-0.0887)*sin(3az) w‘o ‘ ‘ ‘ 5
SigCof: za 0.2699 0.0248 0.0646 0.0126 .
SigCof: az 0.0941 0.1052 0.1022 0.0949 0.1022 0.0975

N

0

lbw 1666 gain vs za and fit dec17—juni18

Pol . gain(az,za) 1666.0 Mhz Sigma(y-yfit): 0.3273
f(za): 7.40667 +(-0.03794)*za +(-0.06079)*(za-14) ~ 2 +( 0.00452) (za-14) ™3
f(1az): 0.2233*cos(1az) + (-0.3621)*sin(1az)

o

f(2az): -0.0‘382*603(2%2) + (T 0.0597)*sin(2az)
f(3az): 0.1584*cos(3az) + (-0.1055)*sin(3az)
SigCof: za 0.2724 0.0253 0.0646 0.0127

SigCof: az 0.0970 0.1071 0.1063 0.0956 0.1068 0.0973

o))
N
o
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low 1415 Mhz gain fit residuals
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low 1550 Mhz gain fit residuals
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